WATER BALANCE ANALYSIS WORKSHOP SESSION

WORKED EXAMPLE

Calculation of evapotranspiration-absorption/seepage area size by the

water balance method.

Using the following information using your Course Notes, calculate the minimum area
and depth of an evapotranspiration-absorption/seepage area for a three bedroom /

five person dwelling.

Bureau of Meteorology rainfall and pan evaporation data for the nearest station

(Perth Airport) is provided below.

JAN

FEB

MAR

APR

MAY

JUN

JUL

AUG

SEP

OCT

NOV

DEC

DAILY
PAN
EVAPORATION
(mm)

9.6

7.7

5.0

3.0

22

21

2.6

3.7

5.4

7.5

9.1

MEAN
MONTHLY
RAINFALL
(mm)

14.9

16.0

40.0

155.7

156

119.0

43.2

25.6

11.3

Three test pits excavated on the proposed disposal area indicate that the soils are
475mm weakly structured clay loam overlying moderately structured light clay to a

depth of 2000mm. Use the recommended design loading rate derived from Table L1
of AS/NZS 1547:2012 (see the Field Workshop and Design Exercise section of these

Course Notes).

Calculate the evapotranspiration-absorption/seepage area using the worksheets

provided on the following two pages.

The evapotranspiration-absorption area is to be constructed of imported aggregate,
is to have a maximum depth of 600mm with a minimum of 50mm freeboard (i.e.

maximum depth of stored effluent is 550mm).
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